APF’ LD

S TUD

F!_,’ LD

L1 D)

4

DEO MAIN - 2023
LCM AND HCF WORKSHEET

a. Find the LCM and HCF of 6 and 20
6 BB 20 P eemwiseier L5.CUT.LO WBEBID .06 ST

b. Three number are in the ration of 3 : 4 : 5 and their LCM is 2400. Their HCF is
PSIl eTewidleMen aldlgmiber (wempBuwi 3 : 4 : 5 gHeaT 1W5.6um 2400 15.0UT.e0 HT6EHIS

a. Find the LCM of 10 (9x* +6xy +Y?), 12(3x* —5xy —2y?), 14(6x* +2x%)
10(9x2 + 6xy + y?), 12(3x*> —5xy —2y?), 14(6x* +2x%) B.0uT.D HTems.

b. The LCM and HCF of two polynomials are x°—land x + 1 respectively. If one of the
polynomial is x> + 1 then the other polynomial is

Am uedemilis Careweusefenr W.0urw (LCM) wipid 18.6urey (HCF) sudwer (wenpGuw
x°—1 wigd x +1 ouew. 9m Cstaer x° + 1 aafled BGOBTH Corener 61gi?

a. Find the greatest number less than 10,000 which is exactly divisible by 48, 60 and 64.
48, 60 BEID 64 LBl eTeIBeMTL EF FHWTS euGHUGBD, 10000 &» ol GoBhHS sl
OIMw  eTExTeN6ITE ST 6uIE.

b. Find the smallest 5 digit number exactly divisible by 16, 24, 36 and 54
16, 24, 36 wBBID 54 SHW elewideTe0 aF Fwms eauGUBL WSFFABIW WbH Bevdd
GTGUITGNGINIE  EbIT6u01 &b

a. Find the largest number which divides 62, 132 and 237 to leave the same remainder the

each case
62, 132 wBBID 237 6B 6IMIEBMeT UGEHSGW CUTHI eIt aumdHG g @Gy wrdHflwrs
QUMD WOBLICUTWL  eTerTen6mIdh  HIT6uTH.

b. Find the least number which when divided by 20, 25, 35 and 40 leaves remainders 14, 19,

29 and 34 respectively
20, 25, 35 Bpib 40 6Ty eTMISEM6NT AUGHSGWD Oumuwg 14, 19, 29 wB@Ibd 34 158 QBTHHEGLD
WsEF FBUl 6TNTENENIES BHTEWIS.

a. The traffic signal lights at three different road crossings change after every 36, 48, 64
seconds respectively. If they all change simultaneously at 7.30 hours then at what time will

they again change simultaneously?

epadiml Coupul L. O (wemsefled o eifen CUTSGHTHSHI HHeared alendGader (wempBuwi 36, 48,
64 alamgseaied Hbered LIPS GBeT. DG cPpSIBID 7 wewil 30 BOLHHeO eeiiml Gumev  LOTXILD
aT&dl60  LOEI(emM 6% LelCBEIHHe0 ceimitd @eiim GuTey MBI 6TeT HewISHS(BHb.

b. The LCM of two numbers is 210 and their HCF is 14. How many such pairs are possible?
@rewi®  elewidelles 15.C0umo 210 w@@ib B.0uTen 14 el HIGWTB  eTHHewenn Gemig Hener
9 (HUTEHSD (LPIQUILD

The LCM of two numbers 14 times of their HCF. The sum of LCM and HCF of those
number is 600. If one number is 280 then find the other number.
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B elanideial W&FFAB CUTHIDL BISTTH Siemaudbeiar WIGLM Qurgsl sryeniulet 14 OLBIGTGLD.
BFAm GuTgIoL Fig wBBIb UL, Gurgl smyeeiulsr smBdHed 600 LS. @b eTewiemmeargl 280
GT&N60  LOBOMIT(TH 6TERTENEMTE  HT6U0Tb.

Find the HCF and LCM of g,g and3—2

81
8 10 32 o - .
9'77'81 spdweuppiesr 15.60ur.en (HCF) wipid 5.6ur.o (LCM) srewias

Find the GCD of polynomials X®—9x* +23x—15,4x* —~16X +12
X2 —9x? + 23X —15,4x* —16X+12 ereiiB LsoeuIpILiLE GasTensuules LS.OLIT.o1 &HTamTs.

Find the GCD of 6x3 — 30x? + 60x — 48 and 3x3 — 12x? + 21x — 18
6x3 —30x? + 60x — 48 wmmid 3x3 — 12x2% + 21x — 18-a1 B.0UT.0u STewIEH

The sum of three prime numbers is 80. The difference of two of them is 4. Find the number.
(peiTml UST eleuisellenn FmBHe0 80, Subpled BFewih elewidefler alSHwngd 4 elafled DHSH
CLPGIT]  GTCITEHEMGITED  BITCUOT.

LCM of two prime numbers x and y (x > y) is 161. The value of 3y - x is,
X,y el & usT elemiseflen 1540 161 sy X peig Y-8 el Guiiwg (X > Y) erefled
3y - X &1 gy

Arrange in Ascending order 3/12,4/20,%/25,./80,%/112
gm auflenguied a@@&.yﬁ,@,%mBO,lﬁllZ

The L.C.M. of two co- prime number is 5005. If one of the numbers is 65 then find the other

number.
@ T uST elewideier .8..0 5005. @ el6wl 65 6660 LOBOMT(TH 6160 6T6IT6IT.

If the sum of two numbers is 55 and the HCF & LCM of these numbers are 5 and 120

respectively. Then the sum of the reciprocals of the numbers is equal to
Om ecemisella FmBHeO 55. Sleuaiyeni(h slewideaier L5.CuT.eu wBBID L6.H.0. (WepGw 5 wBBID
120 etefled SieubeuewIBeNal HemevdiHdeien &nHdHe0

The least perfect square number divisible by 3,4,5,6 and 8 is
3,4,5,6, oBpid 8- SLeL UGUGBLD BFABI 6uTdHd 6TewT.

L.CM and H.C.F of two polynomial is a3 - 10a2 + 11a + 70 and a - 7 respectively. one of the
polynomial is a2 - 12a + 35 means find the another.

B v BosTeneuseiet 15.0U.&T wBEID B.0urw wepGw a-7 wimp a3 -10a2+ 11a +
70. ouBmietT @ Gxmeneu a2 - 12a + 35 aiefled wBOBTEH GHTeneu eresTen?

Find the H.C.F and L.CM of 24,8¢ 16/ and 10/
%,y,l%y 1%7 15.00.8m. 1oBEBID 15.8.10 ST,

The LCM of two numbers is 28 times of their HCF. The sum of LCM and HCF of those

number is 1740. If one number is 240 then find the other number.

B elawideall &AW CUIHIDL BISTTH SieMaudbeaiar WIGLM Ourgl Srreniule 28 DL BIGT@GLD.
WFHm OurgioLmi@G wwBpid WHELUm Ourgl sTyeniulle gadHed 1740 SUGD. @(H  6TEwT6RITIS
240 eTedfl60 LOBOBT(H 6TERIEN6MTSH HT6MID.
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